.


COMPREHENSION – 100 points

1. Where does the scene take place? Tick the right box.





3 pts


� in the house

� at a school


� in a flat

� in a car
2. Who are the characters present in the scene?






2 pts

- Nathan

- his mother

3. Who are the characters mentioned?







3 pts

- Grandma Lois

- Grandpa Barnaby

- Billy

4. What do the following pronouns refer to?






3 pts

“... they always made sure ...” (l. 2)

- they: Nathan and his mother

“... they got grief from their parents ...” (l. 16-17)

- they: everyone

“They know the score ...” (l. 34)

- they: girls

5. Choose the correct equivalents of the following words:

1pt x 4 =


4 pts

a) It wasn’t that they were too mean (l. 7) : 
� they were too poor








� they were too avaricious 








� they were too tired


b) had a simple outlook (l. 29):


� point of view, prospect 







� appearance








� message


c) they never fell out (l. 34):


� they never agreed








� they never quarrelled 








� they always agreed


d) had chastised him (l.34) :
 

� had criticized him 





        


� had beaten him








� had congratulated him

6. Say whether the following statements are TRUE or FALSE. Justify your answers by quoting from the text.




 (4 pts x 5, 0 si pas de justification) 


20 pts

a) The grandparents couldn’t afford to heat their house.




T  F
"It wasn't that they were too mean to heat their large house properly…" (l. 7)

b) Nathan showed great understanding for his mother’s anxiety.



T  F
"Relax, Mum, I saw it way back." (l. 11) et/ou "Pop another Prozac, then sit back and relax." (l. 14).

c) Nathan’s mother was reluctant to let him drive.





T  F
"…Mum let him drive as often as she could." (l. 16)

d) He didn’t resent not having a car of his own.





T  F

He didn't mind…" (l. 19).

e) Billy was planning to start university as soon as he left school.



T  F
"Billy was planning on a gap year…" (l. 27).

7. What do Nathan and Billy have in common? Find two examples.
(3pts x 2) 

6pts

- They both drive (l. 19)

- They go to the same school (l. 23)

8. Compare Nathan's family's standard of living and Billy's. Justify your answer with three quotations. (1 pt par affirmation, 2 pts par justification) (1pt x 3) + (2pts x 3) =



9 pts

Nathan's family is not as well-off as Billy's.

Unlike Billy, he can’t afford his own car.

His family is not rich enough to pay for both his studies and a car.

Justifications :

- “It would be great to have his own car, like Billy, but they could not afford it.” (l. 18-19)

- “... and he’d probably get a part-time job while he was at college...” (l. 21-22)

- “Billy was planning a gap year in which he would travel at his parents’ expense." (l. 27)
9. What are Nathan’s plans for the future? Justify your answer with three quotations.

(1 pt par affirmation, 2 pts par justification) 


  (1pt x 3) + (2pts x 3) =
9 pts

- He wants to go to University / Nottingham.

- He will study law and get his degree at Nottingham.

- He intends to get a high-paying job in London.

Justifications :

-“ ... one day he would earn enough money ...” (l. 19-20)

-“When he’d got his law degree ...” (l. 20)

-“... and was in London ...” (l. 20-21)

- accepter aussi : “... as long as he got the right grades next summer he hoped to go Nottingham ...” (l. 24-25)

10. In what way are Billy’s plans different? Justify your answer with three quotations.

(1 pt par affirmation, 2 pts par justification) 
 

(1pt x 3) + (2pts x 3) =

9 pts

- Billy intends to have a good time at University.

- He is going to take a gap year.

- He will travel at his parents’ expense.

Justifications :

-“... who saw university as a means to extending their childhood ...” (l. 23-24)

-"Billy was planning on a gap year ...” (l. 27)

-“... in which he would travel at his parents’ expense.” (l. 27)

11. For each character, choose two relevant adjectives from the list below. Justify your choice by quoting from the text.

(1 pt par adjectif, 2 pts par justification. 3 ou 0) 


3pts x 4 =


 12 pts 

immature;  absent-minded;  hard-working;  fun-loving;  shy;  well-organized;  carefree;  generous

NATHAN

- well-organized: “... Nathan had the next five years of his life carefully worked out ...” (l. 24)

- hard-working: "It would be a hard slog… but he'd do it." (l. 21-22) et/ou “Nathan, however, knew that hard work paid off.” (l. 30-31)

BILLY

- immature: “Unlike Billy and most of the others at Maywood College, who saw university as a means to extending their childhood ...” (l. 23-24)
- fun-loving: “... he wanted nothing more than to enjoy himself with the least amount of effort.” (l. 29-30)
12. Compare Billy's and Nathan’s attitudes towards girls.





6 pts

Billy can be cruel to girls, and Nathan disapproves of such an attitude. Contrary to Billy, Nathan prefers not to get involved and find himself in a messy relationship. He prefers to remain good friends with everyone.

13. In spite of their differences, show that the two boys are good friends. Pick out at least four quotations from the text.










4 pts

- “Nathan wasn’t envious.” (l. 27-28)

- “That was why their friendship worked.” (l. 28)

- “There was no rivalry between them ...” (l. 32)

- “They rarely argued ...” (l. 32-33)

- “... they never fell out.” (l. 34)

14. Translate into French from line 10 (“Watch out…") to line 14 (“... relax.”)


10 pts

	English
	French
	Points

	"Watch out for the cyclist, Nathan."
	" Fais attention à ce cycliste, Nathan."
	2

	"Relax, Mum, I saw it way back. "
	"Du calme, Maman, ça fait longtemps que je l'ai vu."
	2

	He indicated, overtook the cyclist and turned to smile at his mother.
	Il mit son clignotant, dépassa le cycliste, tourna la tête et sourit à sa mère.
	2

	"Eyes on the road!"
	"Regarde la / ta route !"
	2

	"Mum, I know the road. Pop another Prozac, then sit back and relax."
	"Mais, Maman, je la connais, la route. Prends-toi un autre Prozac, cale-toi dans ton siège et détends–toi."
	2

	Total traduction
	
	10 pts


EXPRESSION – 100 points

Traitez l'un des deux sujets suivants, en 250 mots :

1) What are the advantages and drawbacks of taking a gap year?

2) Billy and Nathan meet six years later. Imagine their conversation.

Guide pour l'évaluation de l'expression personnelle en anglais

Baccalauréat séries L LV2, ES LV1, S LV1 et S LV2

Suggestions du groupe d'anglais de L'Inspection Générale des Langues Vivantes

Candidat : copie N° _________________

	Réalisation de l'exercice 

et traitement du sujet

4 points
	Recevabilité linguistique

6 points
	Total des points

	0.5 point

· présentation inacceptable

· écriture illisible

· consignes non respectées

· hors sujet

· contresens


	0.5 – 1 – 1.5  point

· inintelligible

· lexique indigent

· erreurs récurrentes de grammaire élémentaire
	

	1 – 1.5 – 2 points

· recopiage du support

· hors sujet partiel

· sujet compris mais traitement plat et superficiel

· construction vague


	2 – 2.5 – 3 – 3.5 points

· compréhension possible malgré des erreurs fréquentes

· lexique limité

· syntaxe peu élaborée
	

	2.5 – 3 – 3.5 points

· existence d'une problématique

· effort de construction


	4 – 4.5 – 5 points

· erreurs occasionnelles

· vocabulaire adapté

· syntaxe adéquate


	

	4 points

· enchaînement des idées

· développement organisé

· références culturelles

· conviction, humour


	5.5 – 6 points

· erreurs rares

· vocabulaire riche

· syntaxe élaborée

· capacité à nuancer
	

	Dans un esprit d'évaluation positive, on n'hésitera pas à bonifier – en seconde lecture et selon une échelle + 0.5 / + 1 / +1.5 –  les copies qui se lisent relativement facilement, avec intérêt, voire avec plaisir.

On tiendra compte du soin apporté à la présentation et à la rédaction. On valorisera tout particulièrement les copies dont les auteurs ont réagi au sujet proposé en s'engageant et en exprimant un point de vue personnel.


Barème

	Questions
	Points

	1) 
	3

	2) 
	2

	3) 
	3

	4) 
	3

	5) 
	4

	6) 
	20

	7) 
	6

	8) 
	9

	9) 
	9

	10) 
	9

	11) 
	12

	12) 
	6

	13) 
	4

	14) 
	10

	Total compréhension
	100

	Total expression
	100

	Total général
	200
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